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1) A point is moving on the graph c;f[S:c3 +6y° = xy]. When the point is at (ﬁ,—‘,) . its y-coordinate is

increasing at a speed of 5 units per second. What is the speed of the x -coordinate at that time and in
which direction is lhc x coordinale moving?
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2) A cherry flavored raspa sno-cone is leaking from its paper cone at a rate of 2 cubic inches per minute.

The paper cone’s top radius is 2 inches and is 5 inches tall. When the depth of melted cherry raspa
mixture is 3 inches,

when h =3:in
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a) How fast is the radius of the raspa changing? /7 /; . 3
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b) How fast is the ra: raspaberlly melt leaking onto Gooby's clothes? 4 € _ 25 .
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¢) If Gooby has a small cylindrical cup with a 2 inch diameter beneath the leaking raspa, at this
moment, how fast is the height of the raspa juice in the “catch cup” changing?
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3) Ship 4 is traveling due west toward | ‘}
Lighthouse Rock at a speed of 15 kilometers per hour : -
f . - Ship B Wa—t—s[
(km/hr). Ship B is traveling due north away from i | !
Lighthouse Rock at a speed of 10 km/hr. Letxbethe  j¢ ‘k: S
distance between Ship 4 and Lighthouse Rock at time b Z
. and let y be the distance between Ship B and )
Lighthouse Rock at time 1, as shown in the figure at :
right. : g « Ship A
Lighthouse ¥ y
(2) Find the distance, in kilometers, between Ship A Rock y :" _7I§ krijhy
and Ship B when x=4kmand y=3km. _
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b) Find the rate of change, in km/hr, of the distance between the two ships when x=4km and
y=3km, 9
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(¢c) Let @ be the angle shown in the figure. Find the rate of change of @, in radians per hour, when
x=4kmand y=3km. " 46 de
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1) A point is moving on the graph of 5x° +6y" = xy . When the point is at (T]Ts":IT) . its y-coordinate 1s

increasing at a speed of 5 units per second. What is the speed of the x -coordinate at that time and in
which direction is the x-coordinate moving?

2) A cherry flavored raspa sno-cone is leaking from its paper cone at a rate of 2 cubic inches per minute.
The paper cone’s top radius is 2 inches and is 5 inches tall. When the depth of melted cherry raspa

mixture is 3 inches,

a) How fast is the radius of the raspa changing? ‘

b) How fast is the raspabertty melt leaking onto Gooby's clothes?

¢) If Gooby has a small cylindrical cup with a 2 inch diameter beneath the leaking raspa, at this
moment, how fast is the height of the raspa juice in the “catch cup” changing?
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Lighthouse Rock at a speed of 15 kilometers per hour Ship 8
(kmvhr). Ship B is traveling due north away from p
Lighthouse Rock at a speed of 10 km/hr. Let x be the S
distance between Ship A4 and Lighthouse Rock at time

t, and let y be the distance between Ship B and ¥
Lighthouse Rock at time ¢, as shown in the figure at

night.

(a) Find the distance, in kilometers, between Ship A
and Ship B when x=4kmand y=3km.

Ship A is traveling due west toward |
WO—I—- E

Iv

Ship A

(b) Find the rate of change, in km/hr, of the distance between the two ships when x = 4km and
y=3km.

(c) Let @ be the angle shown in the figure. Find the rate of change of &, in radians per hour, when
x=4kmand y=3km.



